LR P IR EN VN R e s |
IR 445
£ e liw

8 0 TR

Cohs\'o{cw the wCo“ovJMg, magmetic.  Civewit . Find the minimum

1.
mmam‘t Vo(u‘!ﬂe Yez,uirec( 1o ac‘/\:eve an a?v-—ﬁap (’—/«Ax

g{ewsi’oﬁ of |0(ﬂ The  mawimum ehergu  produict  (BH)px of

—40 ( Tl"’%n ) (20%7)

Cpelmaneht i‘hé‘.\angtJ _:_,,_L

AlhiCO S e
A0
Aven Av,
INNNYS
17 | & .
4l =
Alwieos L risd; _
+the thstrumeng g Iow\te'cf in the !’\Fﬂk—\'o’t«ae ‘Su‘o(e

2, With
omd the Iow-Voltc\ae side
Test V‘eaﬂ[inas {;v the 5o kVA  2400: 240 V) tvamsformey

480), >0.8 (A owd G2o(w), An open - Civewit test with
|ow —\(o[{cxﬂe side emwa,‘gec( 8(\/93 ihstviument: ‘fea.clfnrj,s oh

tk\t 5I0l€ @F 240 (V) | 54[(/\)) U-MC" lqO(W), Det.ev‘vvlfne.
'H’]e erlmCit‘MC(a CUT ‘Pb(“ load} ('_),Cr powey "p?-’\i-"to?" laﬂﬁfn;}

S"wYt = circuite J) the Shor‘{; Gt
ang

the

(>0%)

33 3T Iy



My MREN T —REFFE IR A R RA
FH8 ¢ TR R © 445

£ > Rzf Do A

3. T o tomeldsionad motion actuatol, e A= 4 Yefat;‘ovast\.’{v
is  given by
i=0 aset [a
for o<x<l (), where L is the current i the coil of

the actuator. Determine  the Pree  on  the moving  part att

L=l ol %= 0.500), (204

4»' gtﬁow that if ,@‘w@‘ 3

Q:'Rr %‘%y Fl (S E(E‘{—\t CUHSi‘cwt,
& o\ ,
'Ule tDV%ue deve@?' & o ﬁ%nﬁg? J'nf,l_r:/n'ne (S Prepeyvticnal
2 & ¥y
5.5 Nl N7
{Q’@, X . F 1_#

5‘ EAP(OJV\ hf)w i heasuyre c{-o\xfs‘ Yeaatam;e) Xd am] ?ax‘s
% T 15

meri he ftu&

Yeactaw e 3 X% O]C Salfenb = Pole S}/n C"“”Dhou S

Sl;P testl . itieg)

6. Cilodee the swed of the wior o so6un, 1 dy)

60 LHE)) 4. FOIE S}'b’\clf\ Yo hous a@nergjﬂr' i 2047)

KA RS



